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613,959
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Al 3,700

01 AtR2eltl 18,500 45,000 A26,500
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462,500& » 1CH » 40€ 18,500
= 14,800
Al 3,700

206 M=Hl 9,300 22,500 13,200
= 7,440
Al 1,860
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O URSdME 2E A 2
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= 91,059
= 32,928
Al 121,976
101 @12 H| 2,910 3,637 ANT27
04 JIZtN22 S8+ 2,910 3,637 ANT27
O Dtehéh ZHX(E =, JHLiel) HIg==dl &
M= o2 36,3703 = 8H * 52 « 23 2,910
202 O4Hl 2,160 2,400 A240
01 2B 2,160 2,400 A240
O MR 22EX DS oYl
75,0002 * 4% * 83| * 90% 2,160
206 M=Hl 40,073 44,525 A4,452
01 M=l 40,073 44,525 AN4,452
O Mgzl ASHEAE == P 36,000
oz Y 20,000& = 900 18,000
o Ed 25,000& * 7202 18,000
O USRIl #AIS 12 P
25,0003 * 10X * 5ha 1,250
O ASY 9 USRI #AR HATT
8,500% * 5004 * 35 1,275
O HZ Iloll Z8= =37 X 7Y
1,000& * 1,548= 1,548
401 A&HIZL SO0 188,135 413,271 N225,136
= 81,193
= 32,082
Al 74,860
01 Al&dI 183,071 400,942 A217,871
O ZHM= =&
1,598,867& * 5ha * 98.92/100 7,908
= 4,663
L= 999
Al 2,246
O &4 3= =8
1,800,040& * 5ha * 98.92/100 8,903
= 4,500
= 1,350
Al 3,083
O tHolzed
3,001,977& = 25ha = 99.10/100 74,374
= 49,549
L= 7,650
Al 17,175
O zue =¥
3,602,018& * 15ha * 99.10/100 53,544
= 16,209
Al 37,335
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34,623

17,501
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11,872
3,719

2,641
323
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3,342
3,342

2,339
301
702

1,722
86
97

675
486
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8,485

3,844

25,143

A2,122
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= H W

12,685
9,866
846
1,973

25,372
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2,537,000& * 5ha

= H W
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846
1,973
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A12,687
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1,533,939 = 3& » 113 50,620
= 30,371
=S 5,503
Al 14,746
O g= MAH(Z2Es £8)
1,202,806 = 302 = 10 360,842
= 200,450
[ 48,125
Al 12,267
201 LBty 51,213 16,293 34,920
= 20,612
=S 4,972
Al 25,629
01 At2teldl 28,600 4,500 24,100
O get=ZH] 12,200
o g2 MHA HegEs =2 7Y
10,0003 * 5008 5,000
= 2,780
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Al 1,555
o gz MH Hg=s 2R HNES 7
120,000& = 308 =+ 22 7,200
= 4,003
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Al 2,239
O S&tl 3,150
o d= HAHAAMY =& S2 A
7,000& = 38 = 15& = 103 3,150
= 1,751
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O gxz 13,250
o Mol AS= HMAH ZH &tz
450,000 * 102 * 90% 4,050
o gz MAAY FAE g A
920,000& * 1CH = 102 9,200
= 5,115
=S 1,224
Al 2,861
02 33234l 22,613 11,793 10,820
O HaHl 9,970
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o g2 M AU JHIRHO ) RFU
30£= 1,700& » 7CH = 103 3,570
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35,0008 = 7CH * 102 2,450
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o d= MHME =& i g =FUH
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406,584
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01 Al&Hl 2,941,835 2,356,186 585,649
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1,286,383.7% * 2,200ha * 99.64/100 2,819,856
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O 33 = JRI|A Y 48,000& * 2,200ha 105,600
= 52,800
= 12,672
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03 AlIE=0HbI 10,990 9,302 1,688
O &= = Jr371(0.36%) 10,183,000& * 14! 10,188
O =X ZHI31(0.90%) 802,000& * 14l 802
AFRHHIOIQUHA =& &S 907,724 887,547 20,177
= 553,418
L= 104,756
Al 249,550
101 eIl 836,086 767,553 68,533
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& 96,284
Al 229,367
04 JI2tNI22 RS2+ 836,086 767,553 68,533
O AEHOIQUHA =& &= 21|
1,334,632& » 61H * 10& 814,126
= 488,475
L= 96,284
Al 229,367
O &HEHBI0I20HA QIF W=H|
180,000& * 61H * 23| 21,960
= 21,960
201 23] 65,238 66,822 A1,584
= 39,143
& 7,828
Al 18,267
01 AtR22ltl 41,820 50,950 29,130
O AEHBI0IQHA =8 EE A8 22F
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& 3,420
Al 7,980
O =gl 2,000
o AEHIOIQA =& &2 E20H4ltl
2,000,000& * 14 2,000
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4,877

15,872

7,546

202

1]

= HnH

2,400

1,440
288
672

4,000

A 1,600

=L H
O &EHH0I20 A =&

20,000

2$EA
* 2

02 19
>
thl
+ 0%
— Jn

*
(@)}
e

= H W

2,400

2,400
1,440
288
672

4,000

21,600

206

= H W

3,000
1,800
236
964

6,000

/3,000

= H W
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84,088
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766
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3,833
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1,789
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= H W
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3,833

766
1,789
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s K& 6,388,000& * 15

= HHW
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6,388

3,833
766
1,789

90,400

A84,012
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77,700

33,300
44,400

103,740

A26,040

402

77,700

33,300
44,400

103,740

A26,040

01

=

77,700

77,700

33,300
44,400

103,740

A26,040

> o}

1,750,434
53,661
640,000
232,450
824,323

2,238,504

488,070

> 1 0

1,328,670
640,000
192,000
496,670

1,459,397

A130,727

48,070

158,797

A110,727

2,214

2,214

2,214

1,964
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SA - R(B) - MRAY - BES Ofl &t 24 St HIBE2
o NS 100,000& * 18 » 1& 100
o 29 50,0008 * 18 = 1& 50
o A} 50,0002 = 1& = 2Z¢| 100
201 ezl 3,398 3,873 N4T5
01 Ar22tcIbl 851 945 A94
O gxtz 851
o =Y S8 JHlE FHl g 851
- =41 425,500 * 23 851
02 s&=4| 2,547 2,928 A381
O A& EHIS AL 2 547
o SAFHI(CFII, JAHS) FA 22
100,000 * 204 * 43 800
o SFEEHI(0FII, JIHS) *FUH
369,000 * 3CH 1,107
o MBUSH FHEA S AL ARR M
2 =X el 160,000& * 292 = 23] 640
202 OdH| 708 960 N252
01 =LK 708 960 N252
O MEFAANE N B
22,1257 * 29 * 42 = 43] 708
206 =4 1,750 1,750 0
01 MZ4l 1,750 1,750 0
O te=Ed AMEE 22 dHl M 2
50,0002 * 5& * 72l 1,750
401 Al EHIZL S 40,000 150,000 110,000
01 Al&Hl 39,568 148,920 A109,352
O D18 S3tt AE=E 22ALY
40,000,000 = 98.92/100 39,568
03 AlE=0HH| 432 1,080 648
O 018 S3tat AE=T 22HArY
0,000,000& = 1.08/100 432
SE HAsSE =4 1,280,600 1,300,600 /20,000
& 640,000
[ 192,000
Al 448,600
202 OdH| 600 600 0
01 =L 600 600 0
O 24 NeBYY ALE oY
20,0008 * 29 = 3& = 53] 600
401 A EHIL LY 1,280,000 1,300,000 220,000
& 640,000
[ 192,000
Al 448,000
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01 Al&HI 1,275,392 1,293,858 N 18,466
O S NHAFsed ZdAY
1,280,000,0002 * 1JH4 * 99.64/100 1,275,392
= 640,000
= 192,000
Al 443,392
03 AIES0H8I 4,608 6,142 A 1,534
O S&b NHoseg Z&AH(0.36%)
4,608,000& * 14! 4,608
se2 & 0t &4 =4 421,764 779,107 A357,343
= 53,661
= 40,450
Al 327,653
SN e & 2l 261,859 179,227 82,632
= 28,642
= 20,050
Al 213,167
101 @/AHl 36,284 40,017 A3,733
04 JItMI2Z2XEE = 36,284 40,017 A3,733
O S¢t2 FHl ¥ 22/ AR Y 31,107
e JlEg 36,3703 * 53 » 52 » 265 23,641
o Fig 36,370& * 5H » 265 4,729
o MIBES(UHEE, HIIQAEH)
2,737,000& * 14 2,737
O SHZ KRR ARYU(S -2 S D S
) 36,3702 * 2% » 20004 « 23] 2,910
O ZOIE R4 SHZ AZ=E7 22y
47,2203 = 3H « 8 + 23] 2,267
201 YLEr2EH| 8,297 9,330 A 1,033
01 AtSZreltl 5,409 6,010 A601
O gxz 5,409
o SNEZ U 0I2FH S327 B YR
=4D]) 315,000& * 43 1,260
o S&Z FUIXE Xt
829,800& * 1CH * 5013 4,149
02 SZ224H| 2,888 3,320 VAVICY
O A2 &dIs Xl 2,888
o SFFMI(CHII, JIHS) |X 2
90,000& = 504 * 23 900
o SEELI(WFD], JIHE) FUH
364,000& * 3CH 1,092
o SN2 U 7mJU
1,600& * 1402/ = 4012 896
202 O4Hl 960 960 0
01 =UWxHI 960 960 0
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O Sez 2 OtSaH 9252
20,000 * 2% * 32 » 83 960
206 M=Hl 13,955 15,700 A1,745
01 M=l 13,955 15,700 A1,745
O S¢tz ez, AH=E 2=
41,2753 * 1008 * 23] 8,255
O Sazd AT 2 2 IF 7Y
57,000% * 50 * 2004 5,700
401 Al&HIZ =20 200,473 111,120 89,353
= 28,642
& 20,050
Al 151,781
01 Al&Ht] 198,480 110,030 88,450
O B2 SHZ(2RI-TEEDE SR
) SHIAN 20,000,000 * 20H4 * 98.92/100 39,568
O S&2 HUIMSE(BXE)
31,824,300 * 3km * 99.10/100 94,614
= 28,642
& 20,050
Al 45,922
O 734 S&tZ HOAE EXALS
50,000,000& * 1= * 98.92/100 49,460
O HT& SUZ(ZHSARA-TA)EHISA
15,000,000% * 98.92/100 14,838
03 Al&S0HHI 1,993 1,090 903
O B2 SHZ(2RI-TEEDE SR
) SHIAFY 20,000,000& * 2J04A + 1.08/100 432
O S&t2 A (2x)[0.9%]
859,000& * 14! 859
O 734t SHZ HOYAIEE XM
50,000,000& * 1= * 1.08/100 540
OFPA SHZ(ZYSALA-ZA) ZHIZA
15,000,000& = 1.08/100 162
405 XHabE SHI 1,890 2,100 A210
01 L EEFHSHI 1,890 2,100 A210
O s&2 FJHIE &yl 2
1,890,000& * 14 1,890
BSs itz 2 =Y FHH| 75,297 63,297 12,000
= 20,400
Al 54,897
101 el24H| 3,297 3,297 0
04 JIZtN22 RS2+ 3,297 3,297 0
O 254 2ol ARy
1,210& = 498 » 102 23 3,297
401 A&HIZL R0 72,000 60,000 12,000
L= 20,400
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Al 51,600
01 Al&dI 71,352 59,460 11,892
O 254 B4z ¥ T8 FHAY
4,000,000& = 182 * 99.10/100 71,352
= 20,400
Al 50,952
03 AIE20H8I 648 540 108
O 254 2i+s ¥ T8 FHIAY
4,000,000 * 182 * 0.9/100 648
0iSe€d & 08 = =4 22l 42,910 234,365 A191,455
101 @1AH| 2,910 4,365 1,455
04 JIZtN22SE =+ 2,910 4,365 A 1,455
O 02 &6 2 012 % 22 o=
36,3703 * 2 * 40 2,910
401 AIEHIZSOHYI 40,000 230,000 A 190,000
01 Al&dI 39,568 228,236 188,668
O BAHES HWIHAK FH A HH AL
40,000,000 * 122 * 98.92/100 39,568
03 AI&S0H8I 432 1,764 N1,332
O BAHE HWBHAK FH A2 HY AL
40,000,000 * 1JHA = 1.08/100 432
AEMHIA =<0 41,698 42,218 2520
= 25,019
Al 16,679
101 Q1A4H| 41,698 41,103 595
= 25,019
Al 16,679
04 JItMI2Z2XEE = 41,698 41,103 595
O £LTAR A=Y (PER Ta)
1,364,900& * 1H * 10 13,649
= 8,190
Al 5,459
O Sk ool IR (E8s ZE)
1,364,900& * 1H + 10 13,649
= 8,189
Al 5,460
O SA=sX2ed Ifd(E8g 2§
1,365,000& * 1& = 103 13,650
= 8,190
Al 5,460
O =Z M2 II=H| S 250,000& * 1¥ 250
= 150
Al 100
O sS4k ol HI=dl S 250,000& * 1¥ 250
= 150
Al 100
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Al 1,786,369
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& 73,099
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101 el24H| 79,908 40,397 39,51
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= 11,986
Al 27,968
04 JI2tNI2Z2 RS2+ 79,908 40,397 39,511
LAHEHEMNE HEEMS(EX)
1,997, 700& * 49 » 10& 79,908
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L= 11,986
Al 27,968
201 er2gy] 14,060 6.911 7,149
2 7,030
= 2,109
Al 4,921
01 At 2teltl 10,660 5,660 5,000
O YEt=2H| 500
o MBYHMHSHE LN 28 ARH 23
- 100,000 * 53] 500
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& 75
Al 175
O Il=l 560
o 2Nl HUl(YH=) 20,000 * 28Y 560
= 280
=3 84
Al 196
O axz 9,600
o (EEME HE FME2Y IHE St
960,000& * 1CH = 10& 9,600
= 4,800
= 1,440
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750,000& * 3CH

750,000& * 3CH

30,000 = 25CH

100,000& * 7CH

8,000,000& = 3ME

1,650,000& * 7CH

= H W = HHW = H W = HH

= N H

= HH

47,008
5,508
4,008
1,500

29,950
2,250
1,125

337
788
2,250
1,125
337
788
750
375
112
263
700
350
105
245
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12,000
3,600
8,400

11,550
5,775
1,733
4,042

9,309

37,699
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613,081
437,148

52,780
123,153

156,766

456,315

01 Al£Hl

608,702

136,812

471,890
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ZZ AN D (24
1,226,951& * 30ha * 98.92/100 36,411
= 20,801
= 4,802
Al 10,808
JIEH HHE SH(SEHNA LA
133,0772 * 50ha * 98.92/100 6,582
2 3,429
= 967
Al 2,186
ALIR HUES DU
57,360& = 850ha 48,756
2 45,203
L= 1,066
Al 2,487
AUS HEEY URFA
2,853,419&  48ha * 99.28/100 135,978
= 119,012
& 5,386
Al 11,580
AL HESE YA
2,987,075& * 95ha * 99.28/100 281,729
= 198,640
& 25,540
Al 57,549
SZUEXX LY MoK M2
1,955,882 * 50ha * 99.10/100 96,914
= 48,897
& 14,669
Al 33,348
MERHSA QI2F ALE 233,200& * 10ha 2,332
= 1,166
L= 350
Al 816
03 AlIE=0HbI 4,379 1,311 3,068
SPAAT Ll (2= AH) [1.08%]
398,000& * 14 398
O JIEH HHE SH(STLTA 2H)
72,0003 * 14 72
O AUR HESY LIRFAH0.72%)
986,000& * 14 986
AUR THESY LHAIS(0.72%)
2,043,000& = 14 2,043
SYUE2 XS Mol H2H(0.90%)
880,000& * 14 880
S4X € RA2c 940,244 272,319 667,925
= 539,477
Al 400,767
101 Ql24H| 17,916 3,659 14,257
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Al 6,996
04 DI2HHIZ2Z2XsSES 17,916 3,659 14,257
O AEZH ZHID] o2 17,916
o BHE0I8 36,3702 * 48 = 108 15,712
Z 10,920
Al 4,792
o S8olg 55,0808 * 298 * 20 2,204
201 Br2dY| 11,076 12,360 N1,284
01 AtR2teldl 9,684 10,760 A 1,076
O gt 4,500
o AT OHNE FHl 450,000 * 10944 4,500
O gxez 5,184
o YTAIL FHIS B ATHUSR)
432 ,000& ~ 62 * 23] 5,184
02 2=22494| 1,392 1,600 A208
O &&H SHD| &Hl |8F
1,600& = 58 ¢ » 15 1,392
206 Tz H 1,170 1,300 A130
01 MH=Hl 1,170 1,300 A 130
O 2z EHE AMNE=s 2
1,170,000& * 1JA 1,170
401 AI&HILLHY] 910,082 255,000 655,082
Z 528,557
Al 381,525
01 Al&H| 903,921 252,876 651,045
O 3 202 2std AIZ AN
30,000,000€ = 98.92/100 29,676
O AT AEAS
203,021,000 * 3km * 99.37/100 605,226
= 426,344
Al 178,882
O YU X HAIE
66,259,500 = 2km * 99.28/100 131,565
= 92,763
Al 38,802
O 9T BAS
4,499 ,932< * 3km * 98.92/100 13,354
= 9,450
Al 3,904
O OFehot &es JE
125,000,000€ * 1km * 99.28/100 124,100
03 AlIEE£0Hd] 6,161 2,124 4,037
O steF 202 &S AIEAIY
30,000,000€ * 1.08/100 324
O A= A AFH(0.63%) 3,837,000& * 14! 3,837
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173,930
133,171
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101 @1AH| 608,715 637,835 A29,120
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425,288
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52 » 24= 293,280
117,312
52,790
123,178

= H W

5,000& = 5& » 50 1,250
500
225
525

= H W

O &2 ZAIE X
52,5009 * 10 » 52 * 24% 63,000
12,600
50,400
O A2 ZTAIR QIR (F X 48Y) 233,727
ol 36,3702 * 48% * 5 * 203 174,576
o FEXteg 36,3702 * 489 * 203 34,916
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24,235,000 * 14l 24,235
O MELANY S2Y HH Q12U (F A 48

) 36,3703 = 48 » 1& » 10 17,458
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201 et 99,979 95,248 4,731
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Al 1,406
o MEWY E2= M 450,0008 * 45 1,800
OR=1=i:] 34,410
o G=ABA SAHI 5,000 = 708 3,540
= 1,416
= 637
Al 1,487
o &=det B 2HAY
2,0008 * 1,129 * 43 9,000
o SHS MEgdyE S22 SAHI(LR)
21,870,000& * 14| 21,870
O 1=l 20,400
o MESAL 2EE 400,000& * 51& 20,400
= 8,160
[ 3,672
Al 8,568
O gxt= 5,850
o YIEAIL FHIE FHl SXN2(HSR)
356,2503 * 42 x 23] 2,850
o MEZAIMHCC 2E AIEZ
250,0008 = 1JHA » 128 3,000
02 S&524H| 35,510 32,602 2,908
O AN&&dI=Albl 21,010
o MEZAEZL KX 200,000& * 1094 & 2,000
o dEdYE 2RI FX 2,240
- JIX= 50,000& = 20CH 1,000
- JU8 10,0003 = 124CH * 12 1,240
o dEUYE R XM 7
50,0008 * 30CH 1,500
o IFE =2 A== 22
47,000,000& * 6/100 2,820
o MR FA 2
400,000& 80§ = 23| 6,400
o GMEAE R YSII| KA 2l
150,000& * 7CH 1,050
o MEZAE RLUAZAIDHHE |X 22l 2
- 714,285& * 7CH 5,000
= 2,000
= 900
Al 2,100
O 9=l 7,823
o SARAUIIA HLE RF
1,600 = 200 » 8AIZH » 1202 3,072
o M =7
1,600 » OUH = 14.587 £ » 152 3,151
o @IAHFE =2 =y
1,600& * 200 £ » S5HE 1,600
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O AEZAIA ARZHAIAS(OrH])
30,0008 * 21& 630
= 252
= 113
Al 265
O ME2ZAH AXNZHMAIAS(SAZ)
83,986 * 72UH 6,047
= 2,418
= 1,089
Al 2,540
202 OH| 750 750 0
01 =UAbI 750 750 0
O a0 - Aot X2 & S& Hatg] 4
75,0008 * 28 = 5& 750
206 =4 39,530 50,640 A11,110
= 11,600
= 5,220
Al 22,710
01 MZ4l 39,530 50,640 A11,110
O &2dsE AT (R 58)
300,000& *» 65 1,800
O d=dst HgE g 7Y 4,000
o L 50,0003 * 20&dll 1,000
cg-H"-3 50,000& * 60Z & 3,000
O &8s DASA Y 94,6008 * 502 4,730
O JHel &ah ZHl 500,000& * 582 29,000
= 11,600
= 5,220
Al 12,180
301 &eteds 6,725 6,850 A125
10 AtMHI2 4= 1,125 1,250 A125
O &=2018 219 4T A8l 24
5,000& * 4568 * 53] 1,125
12 Jle2d=s 5,600 5,600 0
O d=gstd & 245 5,000,008 * 13 5,000
O &tEAIYE 102l A 8=
20,0008 * 302 600
303 Eaf= 4,740 6,040 21,300
= 1,896
= 853
Al 1,991
01 Zats 4,740 6,040 21,300
O M=deHgy 254 20,0008 * 2378 4,740
= 1,896
[ 853
Al 1,991
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308 AXISHMSO0IH 390,600 150,000 240,600
05 XXISHHZ2tRES 390,600 150,000 240,600
O &I Xt 390,600,000& * 1CH 390,600
401 A&HIZL SO0 201,740 58,882 142,858
= 5,096
= 43,993
Al 152,651
01 Al&Htl 200,101 58,246 141,855
O RALSBIII(ZHI)
13,000,000& = 3CH * 98.92/100 38,579
= 11,700
Al 26,879
O M=K 01332t 24
4,246,529 * 3ha * 98.92/100 12,602
= 5,096
& 2,293
Al 5,213
O ReIZAIDtOlet Ald &X
150,000,000& * 1CH = 99.28/100 148,920
= 30,000
Al 118,920
03 AIZ=0HbI 1,639 636 1,003
O 20185717((1.08%) 421,000 » 14 421
O M=K 01332t 24
4,247,100& * 3ha * 1.08/100 138
O RelZAIDtOlet Al &X
150,000,000& * 1CH = 0.72/100 1,080
405 XHabE SHI 58,200 28,500 29,700
= 23,280
L= 10,476
Al 24,444
01 YL 2 EFH S 58,200 28,500 29,700
O 58 287 800,000& * 4CH 3,200
= 1,280
= 576
Al 1,344
O MS2ZAAIE(E2D) 10,000,000& » 1& 10,000
= 4,000
L= 1,800
Al 4,200
O &t=2& st XXt 45,000,000& * 1CH 45,000
= 18,000
= 8,100
Al 18,900
MEES ZSIALY 107,369 0 107,369
= 64,421
Al 42,948
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0003 *» 40F = 20 ~ 12E

80,000& = 40
80,000& = 40
100,000& * 40

100,000& * 10&

2 28 7

100,000& * 5&

R MsUHE
10,0002 = 40 * 23]

97,5008 = 48 « 123

88,000& * 7€ 128
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91,992
48,000
10,400
3,200
3,200
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19,489
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o 458 79,500& * 5% « 12 4,770
=2 4,770
o 0158 73,6273 » 38 « 12& 2,647
= 2,647
O 34 WSt 42,9953 = 198 1238 9,803
= 9,803
Y 2SIHI(&HL) 169,237 179,888 210,651
elg =gl 76,771 77,295 Ab24
el =gl 76,771 77,295 Ab24
101 Q1244 76,771 77,295 A524
01 2= 76,771 77,295 A524
O a=0d &R & HLEsS T2+
g 25,202
© b5 73,7943 » 18 = 30 2,214
°© 65 62,6158 3% » 30 5,636
o 780918) 56, 175% » 62 » 30 10,112
e 8280J1s) 50,3373 * 38 * 30 4,531
= 98001s) 45,1473 = 28 * 30 2,709
O SHs U=02 4871 € tgas 52
22873 JIE)
56,1758 » 27THEHS * 1 » 4L 51,569
o123 92,466 102,593 £10,127
Jl=28hl 92,466 102,593 210,127
201 LBty 70,257 78,383 N8,126
01 At 2tcIbl 63,812 70,902 AT7,090
O et XA 63,812
o det=SHl 44,191,000& » 14 44,191
o gl 19,621,0002 » 14 19,621
02 5=l 6,445 7,481 21,036
O 352= & MA SHAH
6,445,000& * 14 6,445
202 OH| 18,009 20,010 A2,001
01 =UHAHI 18,009 20,010 A2,001
O BAE2E S8 18,009,000 = 14 18,009
203 g4l 4,200 4,200 0
04 FAEIYER=AH 4,200 4,200 0
O AEHEH 169) 350,000& * 123 4,200




